

Journal of Nonlinear Science and Applications



Integrability and L^1 -convergence of fuzzy trigonometric series with special fuzzy coefficients

Print: ISSN 2008-1898 Online: ISSN 2008-1901

Sandeep Kaur, Jatinderdeep Kaur*

School of Mathematics and Computer Applications, Thapar University Patiala, Punjab -147004, India.

Communicated by B. G. Sidharth

Abstract

In this paper, we generalize some classical results on the integrability of trigonometric series using the notion of integrability in fuzzy L^1 -norm. Here, we introduce new classes of fuzzy coefficients and obtain the necessary and sufficient conditions for L^1 -convergence of fuzzy trigonometric series. Also, an example is given for the existence of new classes of fuzzy coefficients. ©2015 All rights reserved.

Keywords: Fuzzy numbers, fuzzy trigonometric series, integrability, convergence in fuzzy L^1 -norm, 2010 MSC: 46S40, 42A20, 42A16, 42A32.

1. Introduction

A powerful tool in harmonic analysis is the concept of Fourier analysis. It is extremely useful in approximation theory, partial differential equations, probability theory etc. The study of integrability and L^1 -convergence of Fourier series is based on the existence of sine and cosines. In the literature, so far available, various authors such as ([5], [6], [7], [15], [26], [27], [28]) have studied the L^1 -convergence of trigonometric series under different classes of coefficient sequences.

Due to the rapid development of the fuzzy theory, the aim of this paper is to investigate new classes of sequences formed by the fuzzy real coefficients, which generalizes the classical results on Fourier Analysis. To accomplish this, we need to study the basic concepts of fuzzy theory given by various authors such as Zadeh [29], Kaleva [13], Puri and Ralescu [17], Goetchel and Voxman [8], Stojaković ([19], [20], [21]), Zhang and

^{*}Corresponding author

This work is the part of UGC sponsored Major Research Project entitled " On L^1 - convergence of trigonometric series with special coefficients"

Email addresses: sandeepchouhan247@gmail.com (Sandeep Kaur), jkaur@thapar.edu (Jatinderdeep Kaur)

Guo [30], Ban [1], Puri and Ralescu [18], Stojaković ([8], [21]), Kim and Ghil [14], Stojaković and Stojaković ([22], [23]), Talo and Başar [25], Kadak and Başar ([9]–[12]) and so on. One of them set mapping operations to the case of interval valued fuzzy sets and then People move to the another direction to establish a new way of generalizing the interval valued fuzzy sets in terms of its level sets. The effectiveness of level sets come from not only their required memory capacity for fuzzy sets, but also their two valued nature. This nature contributes to an effective derivation of the fuzzy inference algorithm based on the families of the level sets. Beside this, the definition of fuzzy sets by level sets offers advantages over membership functions, when the fuzzy sets are in universe of discourse with many elements.

In this paper, we present a fuzzy notion of integrability and Lebesgue convergence of fuzzy trigonometric series. This paper is organized in six sections as follows: In section 2, we give some required definitions and consequences related with the fuzzy numbers, sequences and series of fuzzy numbers. In section 3, we define the integrals of fuzzy valued functions. In section 4, we introduce some new classes of sequences with special fuzzy coefficients. The section 5 and 6 accomplish the lemma and main results which are the generalization of some existing results.

2. Preliminaries, background and notation

In this section, we first recall some of the basic notions related to fuzzy numbers, sequence and series of fuzzy numbers.

Definition 2.1. A fuzzy number is a fuzzy set on the real axis, i.e., a mapping $u : \mathbb{R} \to [0, 1]$ which satisfies the following four conditions:

(i) u is normal, i.e., there exists an $x_0 \in \mathbb{R}$ such that $u(x_0) = 1$.

(ii) u is fuzzy convex, i.e., $u[\lambda x + (1 - \lambda)y] \ge \min\{u(x), u(y)\}$ for all $x, y \in \mathbb{R}$ and for all $\lambda \in [0, 1]$. (iii) u is upper semi-continuous.

(iv) The set $[u]_0 = \overline{\{x \in \mathbb{R} : u(x) > 0\}}$ is compact, where $\overline{\{x \in \mathbb{R} : u(x) > 0\}}$ denotes the closure of the set $\{x \in \mathbb{R} : u(x) > 0\}$ in the usual topology of \mathbb{R} .

We denote the set of all fuzzy numbers on \mathbb{R} by E^1 and called it as the space of fuzzy numbers λ -level set $[u]_{\lambda}$ of $u \in E^1$ is defined by

$$[u]_{\lambda} = \begin{cases} \{t \in \mathbb{R} : u(t) \ge \lambda\} &, \quad 0 < \lambda \le 1\\ \overline{\{t \in \mathbb{R} : u(t) > \lambda\}} &, \quad \lambda = 0. \end{cases}$$

The set $[u]_{\lambda}$ is closed, bounded and non-empty interval for each $\lambda \in [0, 1]$ which is defined by $[u]_{\lambda} = [u_{\lambda}^{-}, u_{\lambda}^{+}]$. \mathbb{R} can be embedded in E^{1} , since each $r \in \mathbb{R}$ can be regarded as a fuzzy number \bar{r} defined by

$$\bar{r}(x) = \begin{cases} 1 & , & x = r \\ 0 & , & x \neq r. \end{cases}$$

Theorem 2.2. [8] (Goetschel and voxman) For $u \in E^1$, denote $u^-(\lambda) = u_{\lambda}^-$ and $u^+(\lambda) = u_{\lambda}^+$. Then (i) $u^-(\lambda)$ is a bounded increasing function on [0, 1]. (ii) $u^+(\lambda)$ is a bounded decreasing function on [0, 1].

(*iii*) $u^{-}(1) \le u^{+}(1)$.

(iv) $u^{-}(\lambda)$ and $u^{+}(\lambda)$ are left continuous on (0,1] and right continuous at 0.

(v) If $u^{-}(\lambda)$ and $u^{+}(\lambda)$ satisfy above (i) – (iv), then there exist a unique $v \in E^{1}$ such that $v_{\lambda}^{-} = u^{-}(\lambda)$ and $v_{\lambda}^{+} = u^{+}(\lambda)$.

The above theorem implies that we can identify a fuzzy number u with the parameterized representation $\{(u_{\lambda}^{-}, u_{\lambda}^{+}) \mid 0 \leq \lambda \leq 1\}$. Suppose that $u, v \in E^{1}$ are fuzzy numbers represented by $\{(u_{\lambda}^{-}, u_{\lambda}^{+}) \mid 0 \leq \lambda \leq 1\}$ and $\{(v_{\lambda}^{-}, v_{\lambda}^{+}) \mid 0 \leq \lambda \leq 1\}$, respectively. If we define

$$(u \oplus v)(z) = \sup_{x+y=z} \min(u(x), v(y)),$$
(2.1)

$$(\alpha u)(z) = \begin{cases} u(z/\alpha), & \alpha \neq 0, \\ \tilde{0} & \alpha = 0, \quad where \quad \tilde{0} = \chi_{\{0\}}, \end{cases}$$
(2.2)

then

$$\begin{split} u \oplus v &= \{(u_{\lambda}^{-} + v_{\lambda}^{-}, u_{\lambda}^{+} + v_{\lambda}^{+}) | 0 \leq \lambda \leq 1\} \\ u \oplus v &= \{\min(u_{\lambda}^{-} - v_{\lambda}^{-}, u_{\lambda}^{+} - v_{\lambda}^{+}), \max(u_{\lambda}^{-} - v_{\lambda}^{-}, u_{\lambda}^{+} - v_{\lambda}^{+}) \mid 0 \leq \lambda \leq 1\} \\ \alpha u &= \begin{cases} \{(\alpha u_{\lambda}^{-}, \alpha u_{\lambda}^{+}) \mid 0 \leq \lambda \leq 1\}, & \alpha \geq 0, \\ \{(\alpha u_{\lambda}^{+}, \alpha u_{\lambda}^{-}) \mid 0 \leq \lambda \leq 1\}, & \alpha < 0. \end{cases} \end{split}$$

We define a metric d on E^1 by

$$d(u,v) = \sup_{0 \le \lambda \le 1} d_H([u]_\lambda, [v]_\lambda)$$
(2.3)

where d_H is the hausdorff metric defined as

$$d_H([u]_{\lambda}, [v]_{\lambda}) = \max(|u_{\lambda}^- - v_{\lambda}^-|, |u_{\lambda}^+ - v_{\lambda}^+|).$$
(2.4)

Also, $d(u, \tilde{0})$ will be denoted by ||u||.

Definition 2.3. [24] The following basic statements hold:

(i) A sequence $\{u_k\}$ of fuzzy numbers is a function u from the set \mathbb{N} into the set E^1 . The fuzzy number u_k denotes the value of the function at $k \in \mathbb{N}$ and is called as the general term of the sequence. By w(F), we denote the set of all sequences of fuzzy numbers.

(ii) A sequence $\{u_n\} \in w(F)$ is called convergent with limit $u \in E^1$, if and only if for every $\epsilon > 0$ there exists an $n_0 = n(\epsilon) \in \mathbb{N}$ such that $D(u_n, u) < \epsilon$ for all $n \ge n_0$.

(iii) A sequence $\{u_n\} \in w(F)$ is called bounded if and only if the set of fuzzy numbers consisting of the terms of the sequence $\{u_n\}$ is a bounded set. That is to say that a sequence $\{u_n\} \in w(F)$ is said to be bounded if and only if there exist two fuzzy numbers m and M such that $m \leq u_n \leq M$ for all $n \in \mathbb{N}$. This means that $m^-(\lambda) \leq u_n^-(\lambda) \leq M^-(\lambda)$ and $m^+(\lambda) \leq u_n^+(\lambda) \leq M^+(\lambda)$ for all $\lambda \in [0, 1]$.

Remark 2.4. [24] According to Definition 2.3 the following remarks can be given;

(a) Obviously the sequence $\{u_n\} \in w(F)$ converges to a fuzzy number u if and only if $\{u_n^-(\lambda)\}$ and $\{u_n^+(\lambda)\}$ converge uniformly to $u^-(\lambda)$ and $u^+(\lambda)$ on [0,1], respectively.

(b) The boundedness of the sequence $\{u_n\} \in w(F)$ is equivalent to the fact that

$$\sup_{n \in N} D(u_n, \bar{0}) = \sup_{n \in N} \sup_{\lambda \in [0, 1]} \max\{|u_n^-(\lambda)|, |u_n^+(\lambda)|\} < \infty.$$

If the sequence $\{u_k\} \in w(F)$ is bounded then the sequences of functions $\{u_k^-(\lambda)\}$ and $\{u_k^+(\lambda)\}$ uniformly bounded in [0, 1].

Definition 2.5. [24] Let $\{u_k\} \in w(F)$. Then the expression $\sum_{\substack{\oplus \\ k}} u_k$ is called series of fuzzy numbers with the level summation $\sum_{\substack{\oplus \\ \oplus \\ m}}$. Define a sequence $\{s_n\}$ via nth partial level sum of the series by

$$s_n = u_0 \oplus u_1 \oplus u_2 \oplus \cdots \oplus u_n$$

for all $n \in \mathbb{N}$. If the sequence $\{s_n\}$ converges to a fuzzy number u then we say that the series $\sum_{\oplus k} u_k$ of fuzzy numbers converges to u and write $\sum_{\oplus k} u_k = u$ which implies that

$$\lim_{n \to \infty} \sum_{k=0}^{n} u_k^-(\lambda) = u^-(\lambda) \quad and \quad \lim_{n \to \infty} \sum_{k=0}^{n} u_k^+(\lambda) = u^+(\lambda),$$

where the summation is in the sense of classical summation and converges uniformly in $\lambda \in [0, 1]$. Conversely if

$$\sum_{k} u_k^-(\lambda) = u^-(\lambda) \quad and \quad \sum_{k} u_k^+(\lambda) = u^+(\lambda),$$

converges uniformly in λ , then $u = \{(u^-(\lambda), u^+(\lambda)) : \lambda \in [0, 1]\}$ defines a fuzzy number such that $u = \sum_{\bigoplus k} u_k$.

Theorem 2.6. [2] The following statements for level addition \oplus of fuzzy numbers and classical addition + of real scalars are valid:

(i) $\overline{0}$ is neutral element with respect to \oplus , i.e. $u \oplus \overline{0} = \overline{0} \oplus u = u$ for all $u \in E^1$.

(ii) With respect to $\overline{0}$, none of $u \neq \overline{r}$, $r \in \mathbb{R}$ has opposite in E^1 .

(iii) For any $\alpha, \beta \in \mathbb{R}$ with $\alpha, \beta \geq 0$ or $\alpha, \beta \leq 0$ and any $u \in E^1$, we have $(\alpha + \beta)u = \alpha u \oplus \beta u$.

(iv) For any $\alpha \in \mathbb{R}$ and any $u, v \in E^1$, we have $\alpha(u \oplus v) = \alpha u \oplus \alpha v$.

(v) For any $\alpha, \beta \in \mathbb{R}$ and any $u \in E^1$, we have $\alpha(\beta u) = (\alpha \beta)u$.

3. Integrals of fuzzy number valued functions

Let (Ω, Σ, μ) denote a complete σ -finite measure space. If $F : \Omega \to E^1$ is a fuzzy-number-valued function and B is a subset of \mathbb{R} , then $F^{-1}(B)$ denotes the fuzzy subset of Ω defined by $F^{-1}(B)(\omega) = \sup_{x \in B} F(\omega)(x)$ for every $\omega \in \Omega$. The fuzzy-number-valued function $F : \Omega \to E^1$ is called measurable if for every closed subset B of \mathbb{R} the fuzzy set $F^{-1}(B)$ is measurable when considered as a function from Ω to [0, 1]. This concept of measurability for fuzzy-set-valued functions was introduced by Butnariu [3] as a natural generalization of measurable multifunctions. Kaleva [13] defined $F : \Omega \to E^1$ to be strongly measurable if for each $\lambda \in [0, 1]$ the set-valued function $F_{\lambda} : \Omega \to I(\mathbb{R})$ defined by $F_{\lambda}(\omega) = [F(\omega)]_{\lambda}$ is measurable, where $I(\mathbb{R})$ is the set of all closed bounded intervals on \mathbb{R} endowed with the topology generated by the Hausdorff metric d_H defined as in (2.4).

Theorem 3.1. ([3], [4]) For $F : \Omega \to E^1$, $F(\omega) = \{(F_{\lambda}^-(\omega), F_{\lambda}^+(\omega)) \mid 0 \le \lambda \le 1\}$, the following conditions are equivalent.

- (i) F is measurable.
- (ii) F is strongly measurable.

(iii) For each $\lambda \in [0,1]$, F_{λ}^{-} and F_{λ}^{+} are measurable.

Let $F: \Omega \to E^1$, $F(\omega) = \{(F_{\lambda}^-(\omega), F_{\lambda}^+(\omega)) \mid 0 \le \lambda \le 1\}$, be measurable. If for each $\lambda \in [0, 1]$, F_{λ}^- and F_{λ}^+ are integrable, it follows from Theorem 2.2 and the *Lebesgue-dominated convergence theorem* that the parameterized representation $\{(\int_A F_{\lambda}^- d\mu, \int_A F_{\lambda}^+ d\mu) \mid 0 \le \lambda \le 1\}$ is a fuzzy number for each $A \in \Sigma$. This enables us to define the integral of F without using the integral of set-valued function.

Definition 3.2. [14] A measurable function $F : \Omega \to E^1$, $F(\omega) = \{(F_{\lambda}^-(\omega), F_{\lambda}^+(\omega)) \mid 0 \le \lambda \le 1\}$ is called integrable if for each $\lambda \in [0, 1]$, F_{λ}^- and F_{λ}^+ are integrable, or equivalently, if F_0^- and F_0^+ are integrable. In this case, the integral of F over $A \in \Sigma$ is defined by

$$\int_{A} F d\mu = \left\{ \left(\int_{A} F_{\lambda}^{-} d\mu, \int_{A} F_{\lambda}^{+} d\mu \right) \mid 0 \le \lambda \le 1 \right\}.$$
(3.1)

Theorem 3.3. [13] Let $F, G : \Omega \to E^1$ be integrable. Then

(i) if a and b are real numbers, then $aF \oplus bG$ is integrable and for each $A \in \Sigma$, $\int_A (aF \oplus bG)d\mu = a \int_A F d\mu \oplus b \int_A G d\mu$.

(ii) if d is the metric on E^1 which defined as in (2.3), then d(F,G) is a real-valued integrable function and for each $A \in \Sigma$,

$$d\left(\int_{A} F d\mu, \int_{A} G d\mu\right) \leq \int_{A} d(F, G) d\mu.$$
(3.2)

Let $L(\Omega, \Sigma, \mu) = L$ denote the Banach space of (equivalence classes of) integrable function $f : \Omega \to R$ with the norm

$$||f|| = \int_{\Omega} |f(\omega)| d\mu = \left\{ \left(\int_{\Omega} |f_{\lambda}^{-}| d\mu, |f_{\lambda}^{+}| d\mu \right) \mid 0 \le \lambda \le 1 \right\}.$$

Remark 3.4. (i) F is integrable if and only if the real-valued function $\omega \mapsto ||F(\omega)||$ is integrable. (ii) $||\int_A F d\mu|| \leq \int_A ||F|| d\mu$.

For the case of fuzzy-number-valued functions, we denote $L(E^1)$ the space of all integrable functions $F: \Omega \to E^1$, where two functions $F, G \in L(E^1)$ are considered to be identical if $F(\omega) = G(\omega)$ a.e. For $F, G \in L(E^1)$, we define

$$\delta(F,G) = \int_{\Omega} d(F,G) d\mu.$$
(3.3)

It is easy to show that δ is metric on $L(E^1)$.

 $L(E^1)$ is complete with respect to the metric.

$$D(F,G) = \sup_{0 \le \lambda \le 1} \int_{\Omega} \max(|F_{\lambda}^{-} - G_{\lambda}^{-}|, |F_{\lambda}^{+} - G_{\lambda}^{+}|) d\mu.$$

$$(3.4)$$

4. Fuzzy trigonometric cosine and sine series for fuzzy valued periodic functions

In this section, we present the notion of periodic fuzzy valued functions and their harmonics with respect to the level sets.

Definition 4.1. [12] (Periodicity) A fuzzy-valued function f^t is called periodic if there exists a constant P > 0 for which $f^t(x + P) = f^t(x)$ for any $x, t \in [a, b]$. Thus it can easily seen that the conditions $f_{\lambda}^-(t + P) = f_{\lambda}^-(t)$ and $f_{\lambda}^+(t + P) = f_{\lambda}^+(t)$ hold for all $t \in [a, b]$ and $\lambda \in [0, 1]$. Such a constant P > 0 is called a period of the function f^t .

Let

$$\frac{1}{2}a_0 \oplus \sum_{\oplus k=1}^{\infty} a_k \cos kx, \tag{4.1}$$

and

$$\sum_{\substack{\oplus k=1}}^{\infty} b_k \sin kx,\tag{4.2}$$

be fuzzy trigonometric cosine series and sine series as defined in [12] and $s_n(x)$ and $\tilde{s}_n^t(x)$ be the nth partial level sum of the series (4.1) and (4.2) given by $s_n(x) = \frac{a_0}{2} \oplus \sum_{\substack{k=1 \\ \oplus k=1}}^n a_k \cos kx$ and $\tilde{s}_n^t(x) = \sum_{\substack{k=1 \\ \oplus k=1}}^n b_k \sin kx$, where $\{a_k\} = \{((a_k)_{\lambda}^-, (a_k)_{\lambda}^+) \mid 0 \le \lambda \le 1\}$ and $\{b_k\} = \{((b_k)_{\lambda}^-, (b_k)_{\lambda}^+) \mid 0 \le \lambda \le 1\}$ for k = 1, 2, ...n are the fuzzy coefficients.

Let
$$\{a_k\} = \{((a_k)_{\lambda}^-, (a_k)_{\lambda}^+) \mid 0 \le \lambda \le 1\}$$
 be a fuzzy sequence. Then we write

$$\begin{aligned} \Delta a_k &= a_k \ominus a_{k+1} \\ &= (\min\{(a_k)_{\lambda}^- - (a_{k+1})_{\lambda}^-, (a_k)_{\lambda}^+ - (a_{k+1})_{\lambda}^+\}, \max\{(a_k)_{\lambda}^- - (a_{k+1})_{\lambda}^-, (a_k)_{\lambda}^+ - (a_{k+1})_{\lambda}^+\}) \\ &= ((\Delta a_k)_{\lambda}^-, (\Delta a_k)_{\lambda}^+) \\ \Delta^2 a_k &= \Delta(\Delta a_k) = (\Delta(\Delta a_k)_{\lambda}^-, \Delta(\Delta a_k)_{\lambda}^+). \end{aligned}$$

Definition 4.2. A sequence $\{a_k\} \in w(F)$ is said to be decreasing sequence if $a_{k+1} \prec a_k$ *i.e.* $(a_k)^-_{\lambda} < (a_{k+1})^-_{\lambda}$ and $(a_k)^+_{\lambda} > (a_{k+1})^+_{\lambda}$.

Remark 4.3. If $\{a_k\}$ is a decreasing fuzzy sequence, then it can be easily seen that $(\Delta a_k)^-_{\lambda} = (a_k)^-_{\lambda} - (a_{k+1})^-_{\lambda} = \Delta(a_k)^-_{\lambda}$ and $(\Delta a_k)^+_{\lambda} = (a_k)^+_{\lambda} - (a_{k+1})^+_{\lambda} = \Delta(a_k)^+_{\lambda}$.

Now, we introduce some new classes of fuzzy coefficients as follows:

Definition 4.4. A sequence $\{a_k\} \in w(F)$ is said to be fuzzy null sequence if $\lim_{k \to \infty} a_k = [0]_{\lambda}$ with respect to the level sets. *i.e.*

$$\left\{ \left(\lim_{k \to \infty} (a_k)_{\lambda}^- = 0_{\lambda}^-, \lim_{k \to \infty} (a_k)_{\lambda}^+ = 0_{\lambda}^+ \right) \mid 0 \le \lambda \le 1 \right\}.$$
(4.3)

Definition 4.5. A decreasing sequence $\{a_k\} \in w(F)$ is said to belong to class $\mathbf{BV}(\mathbf{F})$ with respect to the level set if (4.3) is satisfied and the series $\sum_{\oplus k=0}^{\infty} |\Delta a_k|$ is convergent.

Definition 4.6. A decreasing sequence $\{a_k\} \in w(F)$ is said to belong to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$ (for $\lambda \in [0, 1]$) if (4.3) is satisfied and the series

$$\sum_{\substack{\oplus m=1}}^{\infty} 2^{m/q} \left(\sum_{\substack{\oplus k \in I_m}} |\Delta a_k|^p \right)^{1/p}, \quad for some \ p > 1$$

$$(4.4)$$

is convergent. (4.4) can be written as

$$\left\{ \left(\sum_{m=1}^{\infty} 2^{m/q} \left(\sum_{k \in I_m} \left| (\Delta a_k)_{\lambda}^{-} \right|^p \right)^{1/p} < \infty, \sum_{m=1}^{\infty} 2^{m/q} \left(\sum_{k \in I_m} \left| (\Delta a_k)_{\lambda}^{+} \right|^p \right)^{1/p} < \infty \right) \mid 0 \le \lambda \le 1 \right\}.$$
(4.5)

Here p > 1 be any real number and q be the conjugate exponent to p *i.e.* $\frac{1}{p} + \frac{1}{q} = 1$ and I_m be the dyadic interval $[2^{m-1}, 2^m)$ and $m \ge 1$.

By Cauchy condensation test, it can be easily seen that (4.5) is equivalent to

$$\left\{ \left(\sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=n}^{2n-1} \left| (\Delta a_k)_{\lambda}^{-} \right|^p \right)^{1/p} < \infty, \sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=n}^{2n-1} \left| (\Delta a_k)_{\lambda}^{+} \right|^p \right)^{1/p} < \infty \right) \mid 0 \le \lambda \le 1 \right\}.$$

$$(4.6)$$

Further, by applying Holder's inequality to (4.6), we get

$$\mathbf{K}_{1}(\mathbf{F}) = \left\{ \left(\sum_{k=1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{-} \right|, \sum_{k=1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{+} \right| \right) \mid 0 \leq \lambda \leq 1 \right\} \preceq \mathbf{K}_{\mathbf{p}}(\mathbf{F})$$
$$\implies \sum_{\oplus k=1}^{\infty} |\Delta a_{k}| = \mathbf{K}_{1}(\mathbf{F}) \preceq \mathbf{K}_{\mathbf{p}}(\mathbf{F}), \qquad p > 1.$$
(4.7)

Hence, the class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$ contains the class of bounded variation.

Now, we present an example for the existence of above classes as follows:

Example 4.7. Let $\{a_k\} = \{(a_k)_{\lambda}^-, (a_k)_{\lambda}^+\} = \left\{ \left(\frac{1}{k+1} + \lambda \left(\frac{1}{k} - \frac{1}{k+1}\right), \frac{1}{k-1} - \lambda \left(\frac{1}{k-1} - \frac{1}{k}\right) \right) \mid 0 \le \lambda \le 1 \right\},\$ be fuzzy sequence. Since $(a_k)_{\lambda}^-$ and $(a_k)_{\lambda}^+$ tends to zero as $k \to \infty$ therefore it is fuzzy null sequence.

As (4.5) is equivalent to (4.6), it is sufficient to show that the series $\sum_{\substack{\oplus n=1}}^{\infty} \left(\frac{1}{n} \sum_{\substack{\oplus k=n}}^{2n-1} |\Delta a_k|^p \right)^{1/p}$ is convergent.

First, we check the behavior of the series $\sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=n}^{2n-1} \left| (\Delta a_k)_{\lambda}^{-} \right|^p \right)^{1/p}$ for $0 \le \lambda \le 1$.

we have

$$\begin{aligned} (\Delta a_k)_{\lambda}^{-} &= \min\{(a_k)_{\lambda}^{-} - (a_{k+1})_{\lambda}^{-}, (a_k)_{\lambda}^{+} - (a_{k+1})_{\lambda}^{+}\} \\ &= \frac{1}{(k+1)(k+2)} + \frac{2\lambda}{k(k+1)(k+2)}, \qquad 0 \le \lambda \le 1. \end{aligned}$$

onsider $J_1 = \sum_{k=1}^{\infty} \left(\frac{1}{n} \sum_{k=1}^{2n-1} |(\Delta a_k)_{\lambda}^{-}|^p\right)^{1/p}. \end{aligned}$

Co $\sum_{n=1}^{\mathbf{\Delta}} \left(\overline{n} \sum_{k=n}^{\mathbf{\Delta}} |(\Delta u_k)_{\lambda}| \right)$

By Minkowski Inequality,

$$J_{1} \leq \sum_{n=1}^{\infty} \frac{1}{n^{1/p}} \left[\left\{ \sum_{k=n}^{2n-1} \left| \frac{1}{(k+1)(k+2)} \right|^{p} \right\}^{1/p} + \left\{ \sum_{k=n}^{2n-1} \left| \frac{2\lambda}{(k-1)k(k+1)} \right|^{p} \right\}^{1/p} \right] \right]$$

$$\leq \sum_{n=1}^{\infty} \frac{1}{n^{1/p}} \left[\left\{ \frac{1}{(n+1)^{p}(n+2)^{p}} + \frac{1}{(n+2)^{p}(n+3)^{p}} + \ldots \right\}^{1/p} + \left[2\lambda \left\{ \frac{1}{(n-1)^{p}n^{p}(n+1)^{p}} + \frac{1}{n^{p}(n+1)^{p}(n+2)^{p}} + \ldots \right\}^{1/p} \right] \right]$$

$$\leq \sum_{n=1}^{\infty} \frac{1}{n^{1/p}} \left[\left\{ \frac{n}{(n+1)^{p}(n+2)^{p}} \right\}^{1/p} + 2\lambda \left\{ \frac{n}{n^{p}(n+1)^{p}(n+2)^{p}} \right\}^{1/p} \right]$$

$$\leq \sum_{n=1}^{\infty} \left[\frac{1}{(n+1)(n+2)} + \frac{2\lambda}{(n-1)n(n+1)} \right] = \sum_{n=1}^{\infty} \frac{1}{(n+1)(n+2)} + \sum_{n=1}^{\infty} \frac{2\lambda}{(n-1)n(n+1)} < \infty$$
arly,
$$J_{2} = \sum_{n=1}^{\infty} \left(\frac{1}{n} \sum_{k=n}^{2n-1} \left| (\Delta a_{k})_{\lambda}^{-1} \right|^{p} \right)^{1/p} < \infty.$$
Therefore, the series
$$\sum_{\oplus n=1}^{\infty} \left(\frac{1}{n} \sum_{k=n}^{2n-1} |\Delta a_{k}|^{p} \right)^{1/p} \text{ is con-$$

simila $n=1 \setminus k=n$ vergent.

Hence, the fuzzy sequence $\{a_k\}$ belongs to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$.

5. Lemma

Lemma 5.1. Let $\{a_k\}$ be a sequence of fuzzy numbers. Then for any $1 and <math>n \ge 1$,

$$\frac{1}{n} \int_{0}^{\pi} \left| \sum_{\oplus k=n}^{2n-1} a_k D_k(x) \right| dx \leq M_p \left(\frac{1}{n} \sum_{\oplus k=n}^{2n-1} |a_k|^p \right)^{\frac{1}{p}}$$
(5.1)

where M_p is an absolute constant.

Proof. We write

$$\frac{1}{n} \int_{0}^{\pi} \left| \sum_{\oplus k=n}^{2n-1} a_{k} D_{k}(x) \right| dx = \left\{ \left(\frac{1}{n} \int_{0}^{\pi} \left| \sum_{k=n}^{2n-1} (a_{k})_{\lambda}^{-} D_{k}(x) \right| dx, \frac{1}{n} \int_{0}^{\pi} \left| \sum_{k=n}^{2n-1} (a_{k})_{\lambda}^{+} D_{k}(x) \right| dx \right\} = (J_{1}, J_{2}).$$

 $\operatorname{Consider}$

$$J_1 = \frac{1}{n} \int_0^{\pi} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} D_k(x) \right| dx$$

$$= \frac{1}{n} \int_{0}^{\pi/n} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} D_k(x) \right| dx + \frac{1}{n} \int_{\pi/n}^{\pi} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} D_k(x) \right| dx$$
$$= J_{11} + J_{12}.$$

Now,

$$J_{11} = \frac{1}{n} \int_{0}^{\pi/n} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} D_k(x) \right| dx \le \frac{1}{n} \int_{0}^{\pi/n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}| |D_k(x)| dx$$

Here, $D_k(x)$ is the Dirichlet kernel and $D_k(x) \leq k+1$ for all $x \in (0,\pi)$. Thus, we get

$$J_{11} \leq \frac{1}{n} \int_{0}^{\pi/n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}| (k+1) dx \leq \frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}| (k+1) \int_{0}^{\pi/n} dx$$
$$\leq \frac{\pi}{n^2} (2n-1+1) \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}| = \frac{2\pi}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}|.$$

By using Holder's inequality, we have

$$J_{11} \le 2\pi \left(\frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}|^p\right)^{1/p}.$$
(5.2)

Next, we consider

$$J_{12} = \frac{1}{n} \int_{\pi/n}^{\pi} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} D_k(x) \right| dx = \frac{1}{n} \int_{\pi/n}^{\pi} \frac{1}{2\sin(\frac{x}{2})} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} \sin\left(k + \frac{1}{2}\right) x \right| dx.$$

Again by applying Holder's inequality for $\frac{1}{p}+\frac{1}{q}=1~$, p>1, we get

$$J_{12} \le \frac{1}{2n} \left(\int_{\pi/n}^{\pi} \frac{dx}{\left(\sin\left(\frac{x}{2}\right)\right)^p} \right)^{1/p} \left(\int_{\pi/n}^{\pi} \left| \sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} \sin\left(k + \frac{1}{2}\right) x \right|^q dx \right)^{1/q}.$$

Further, It can be easily noted that for $x \in \left(\frac{\pi}{n}, \pi\right)$, $\int_{\pi/n}^{\pi} \frac{dx}{(\sin(x/2))^p} \le \pi^p \int_{\pi/n}^{\pi} \frac{dx}{x^p} \le \frac{\pi}{p-1} n^{p-1}$.

Therefore,

$$J_{12} \le \frac{1}{2n} \left(\frac{\pi}{p-1}\right)^{1/p} (n^{p-1})^{1/p} \left(\int_{0}^{\pi} \left|\sum_{k=n}^{2n-1} (a_k)_{\lambda}^{-} \sin\left(k+\frac{1}{2}\right) x\right|^q dx\right)^{1/q}$$

Now, by the use of Hausdorff Young's inequality (for 1), we get

$$\left(\frac{1}{\pi}\int_{0}^{\pi}\left|\sum_{k=n}^{2n-1}(a_{k})_{\lambda}\right|^{-1/2}\sin\left(k+\frac{1}{2}\right)x\right|^{q}dx\right)^{1/q}$$

$$\leq \left(\frac{1}{2\pi}\int_{-\pi}^{\pi}\left|\sum_{k=n}^{2n-1}(a_{k})_{\lambda}\right|^{-1/2}e^{i(k+\frac{1}{2})x}\right|^{q}dx\right)^{1/q}$$

$$\leq \left(\sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}|^p\right)^{1/p}$$

Thus, we get

$$J_{12} \le \frac{\pi}{2} (p-1)^{-1/p} n^{-1/p} \left(\sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}|^p \right)^{1/p}.$$
(5.3)

Combining (5.2) and (5.3), we have

$$J_1 \le \pi \left(2 + \frac{1}{2} (p-1)^{-1/p} \right) \left(\frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^-|^p \right)^{1/p}.$$

Similarly, $J_2 \leq \pi \left(2 + \frac{1}{2}(p-1)^{-1/p}\right) \left(\frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)^+_{\lambda}|^p\right)^{1/p}$ Hence,

$$(J_1, J_2) \preceq \left\{ \begin{pmatrix} \pi \left(2 + \frac{1}{2} (p-1)^{-1/p} \right) \left(\frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{-}|^p \right)^{1/p}, \\ \pi \left(2 + \frac{1}{2} (p-1)^{-1/p} \right) \left(\frac{1}{n} \sum_{k=n}^{2n-1} |(a_k)_{\lambda}^{+}|^p \right)^{1/p} \end{pmatrix} \mid 0 \le \lambda \le 1 \right\}$$
$$= \pi \left(2 + \frac{1}{2} (p-1)^{-1/p} \right) \left(\frac{1}{n} \sum_{\oplus k=n}^{2n-1} |a_k|^p \right)^{1/p}.$$

Thus the conclusion of lemma holds.

6. Main Results

In this section, we show that more general results hold in fuzzy Fourier analysis. The first main result of this section read as follows:

Theorem 6.1. If $\{a_k\}$ is a sequence of fuzzy coefficients belonging to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$, then (i) $f^t \in L^1(0, \pi)$.

(ii) series (4.1) is the Fourier series of f^t . (iii) the series (4.1) converges to fuzzy valued function f^t in $L^1(0,\pi)$ -norm if and only if $\left\{\lim_{n\to\infty} a_n \ln n = [0]_{\lambda} \mid 0 \le \lambda \le 1\right\}$.

Proof. (i) Let

$$s_{n}^{t}(x) = \frac{1}{2}a_{0} \oplus \sum_{\substack{\oplus k=1 \\ \oplus k=1}}^{n} a_{k} \cos kx$$
$$= \left\{ \left(\frac{1}{2}(a_{0})_{\lambda}^{-} + \sum_{k=1}^{n} (a_{k})_{\lambda}^{-} \cos kx, \frac{1}{2}(a_{0})_{\lambda}^{+} + \sum_{k=1}^{n} (a_{k})_{\lambda}^{+} \cos kx \right) \mid 0 \le \lambda \le 1 \right\}.$$

Using summation by parts, we get

$$s_n^t(x)$$

$$= \left\{ \left(\sum_{k=0}^{n-1} D_k(x) \Delta(a_k)_{\lambda}^{-} + (a_n)_{\lambda}^{-} D_n(x), \sum_{k=0}^{n-1} D_k(x) \Delta(a_k)_{\lambda}^{+} + (a_n)_{\lambda}^{+} D_n(x) \right) \mid 0 \le \lambda \le 1 \right\}.$$

As $\{a_k\}$ belongs to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$ so $\{a_k\}$ is a decreasing sequence, then we have

$$s_{n}^{t}(x) = \left\{ \left(\sum_{k=0}^{n-1} D_{k}(x) (\Delta a_{k})_{\lambda}^{-} + (a_{n})_{\lambda}^{-} D_{n}(x), \sum_{k=0}^{n-1} D_{k}(x) (\Delta a_{k})_{\lambda}^{+} + (a_{n})_{\lambda}^{+} D_{n}(x) \right) \mid 0 \leq \lambda \leq 1 \right\}.$$
(6.1)

By (4.3) and (4.7), the series $\left\{ \left(\sum_{k=0}^{\infty} D_k(x) (\Delta a_k)_{\lambda}^{-}, \sum_{k=0}^{\infty} D_k(x) (\Delta a_k)_{\lambda}^{+} \right) \mid 0 \leq \lambda \leq 1 \right\}$ converges absolutely and

$$\left\{ \left(\lim_{n \to \infty} (a_n)_{\lambda}^{-} D_n(x), \lim_{n \to \infty} (a_n)_{\lambda}^{+} D_n(x) \right) \mid 0 \le \lambda \le 1 \right\} = \left\{ \left(0_{\lambda}^{-}, 0_{\lambda}^{+} \right) \mid 0 \le \lambda \le 1 \right\}$$

at every point $x \neq 0 \pmod{2\pi}$. Thus the series (4.1) converges except possibly at $x = 0 \pmod{2\pi}$, and

$$\left\{ \left(\frac{1}{2} (a_0)_{\lambda}^{-} + \sum_{k=1}^{\infty} (a_k)_{\lambda}^{-} \cos kx, \frac{1}{2} (a_0)_{\lambda}^{+} + \sum_{k=1}^{\infty} (a_k)_{\lambda}^{+} \cos kx \right) \mid 0 \le \lambda \le 1 \right\}$$

$$= \left\{ \left(\sum_{k=0}^{\infty} D_k(x) (\Delta a_k)_{\lambda}^{-} \right) \mid 0 \le \lambda \le 1 \right\}$$

$$= \left\{ \left(f_{\lambda}^{-}(x), f_{\lambda}^{+}(x) \right) \mid 0 \le \lambda \le 1 \right\}$$

$$= f^t.$$
(6.2)

Therefore f^t exists in $(0, \pi)$. We group the terms in (6.2) as follows

$$\left\{ \begin{pmatrix} f_{\lambda}^{-}(x), f_{\lambda}^{+}(x) \end{pmatrix} \mid 0 \leq \lambda \leq 1 \right\}$$

$$= \left\{ \begin{pmatrix} D_{0}(x)(\Delta a_{0})_{\lambda}^{-} + \sum_{m=1}^{\infty} \sum_{k \in I_{m}} D_{k}(x)(\Delta a_{k})_{\lambda}^{-}, \\ D_{0}(x)(\Delta a_{0})_{\lambda}^{+} + \sum_{m=1}^{\infty} \sum_{k \in I_{m}} D_{k}(x)(\Delta a_{k})_{\lambda}^{+} \end{pmatrix} \mid 0 \leq \lambda \leq 1 \right\}$$

$$f^{t}(x) = D_{0}(x)\Delta a_{0} \oplus \sum_{\oplus m=1}^{\infty} \sum_{k \in I_{m}} D_{k}(x)\Delta a_{k}.$$

By using Lemma 5.1, we get for $1 \le p \le 2$

$$\int_{0}^{\pi} |f^{t}(x)| dx \leq \frac{\pi}{2} |\Delta a_{0}| \oplus M_{p} \sum_{\oplus m=1}^{\infty} 2^{m/q} \left(\sum_{\oplus k \in I_{m}} |\Delta a_{k}|^{p} \right)^{1/p}.$$
(6.4)

The conclusion of (i) holds, by using given hypothesis.

(ii) Now, for proving this part, we consider $f^t(x) = \lim_{n \to \infty} s_n^t(x)$. [by (i) as $f^t \in L^1(0, \pi)$] Let $l \ge 0$ be fixed integer, therefore

$$\frac{2}{\pi} \int_{0}^{\pi} f^{t}(x) \cos lx dx$$
$$= \lim_{n \to \infty} \frac{2}{\pi} \int_{0}^{\pi} s_{n}^{t}(x) \cos lx dx$$

$$= \lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \frac{a_{0}}{2} \oplus \sum_{\substack{k=1 \\ \oplus k=1}}^{n} a_{k} \cos kx \right\} \cos lx dx \right]$$
$$= \left\{ \left(\lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \frac{(a_{0})_{\lambda}^{-}}{2} + \sum_{k=1}^{n} (a_{k})_{\lambda}^{-} \cos kx \right\} \cos lx dx \right], \\ \lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \frac{(a_{0})_{\lambda}^{+}}{2} + \sum_{k=1}^{n} (a_{k})_{\lambda}^{+} \cos kx \right\} \cos lx dx \right] \right) \mid 0 \le \lambda \le 1 \right\}$$
$$= \left\{ \left(\lim_{n \to \infty} \left[\frac{2}{\pi} \times \frac{\pi}{2} (a_{l})_{\lambda}^{-} \right], \lim_{n \to \infty} \left[\frac{2}{\pi} \times \frac{\pi}{2} (a_{l})_{\lambda}^{+} \right] \right) \mid 0 \le \lambda \le 1 \right\}$$
$$= a_{l}.$$

This proves that (4.1) is the Fourier series of f^t .

(iii) Next, we prove that $\lim_{n \to \infty} \int_{0}^{\pi} |s_n^t(x) \ominus f^t(x)| = 0$ if and only if $\left\{ \lim_{n \to \infty} a_n \ln n = [0]_{\lambda} \mid 0 \le \lambda \le 1 \right\}$. Consider,

$$\begin{split} \lim_{n \to \infty} \int_{0}^{\pi} \left| s_{n}^{t}(x) \ominus f^{t}(x) \right| dx \\ &= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left(\int_{0}^{\pi} \left| (s_{n})_{\lambda}^{-}(x) - f_{\lambda}^{-} \right| dx, \int_{0}^{\pi} \left| (s_{n})_{\lambda}^{+}(x) - f_{\lambda}^{+}(x) \right| dx \right) \\ &= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left(\int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} (a_{k})_{\lambda}^{-} \cos kx \right| dx, \int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} (a_{k})_{\lambda}^{+} \cos kx \right| dx \right) \\ &= (J_{1}, J_{2}), \end{split}$$

where

 J_1

$$= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} (a_{k})_{\lambda}^{-} \cos kx \right| dx = \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} \Delta(a_{k})_{\lambda}^{-} D_{k}(x) - (a_{n+1})_{\lambda}^{-} D_{n}(x) \right| dx$$
$$= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} (\Delta a_{k})_{\lambda}^{-} D_{k}(x) - (a_{n+1})_{\lambda}^{-} D_{n}(x) \right| dx$$
$$\leq \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left[\sum_{k=n+1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{-} D_{k}(x) \right| + \left| (a_{n+1})_{\lambda}^{-} D_{n}(x) \right| \right] dx.$$

Similarly,

$$J_{2} \leq \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left[\sum_{k=n+1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{+} D_{k}(x) \right| + \left| (a_{n+1})_{\lambda}^{+} D_{n}(x) \right| \right] dx$$

$$\lim_{n \to \infty} \int_{0}^{\pi} \left| s_{n}^{t}(x) \ominus f^{t}(x) \right| dx \quad \preceq \quad \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left(\int_{0}^{\pi} \sum_{k=n+1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{-} D_{k}(x) \right| + \int_{0}^{\pi} \left| (a_{n+1})_{\lambda}^{-} D_{n}(x) \right| dx, \\ \int_{0}^{\pi} \sum_{k=n+1}^{\infty} \left| (\Delta a_{k})_{\lambda}^{+} D_{k}(x) \right| + \int_{0}^{\pi} \left| (a_{n+1})_{\lambda}^{+} D_{n}(x) \right| dx \right).$$

Since (see e.g. [31], Vol I, p. 67) $\int_{0}^{n} |D_n(x)| dx \approx \ln n$ (iii) follows. Here the symbol $a_n \approx b_n$ means that there are positive constants K_1 and K_2 such that $K_1 \leq a_n/b_n \leq K_2$ for all n large enough.

Remark 6.2. If $(a_k)_{\lambda}^- = (a_k)_{\lambda}^+$ in above theorem then the sequence $\{a_k\}$ of fuzzy numbers becomes the sequence of real numbers, then the following corollary is an application of Theorem 6.1.

Corollary 6.3. [16] If $\{a_k\}$ is a null sequence and the series $\sum_{m=1}^{\infty} 2^{m/q} \left(\sum_{k \in I_m} |\Delta a_k|^p\right)^{1/p}$ is convergent for some p > 1, then (i) $f \in L^1(0, \pi)$. (ii) $\frac{1}{2}a_0 + \sum_{k=1}^{\infty} a_k \cos kx$ is the Fourier series of f. (iii) $\lim_{n \to \infty} \int_0^{\pi} |s_n(x) - f(x)| dx = 0$ if and only if $\lim_{n \to \infty} a_n \ln n = 0$. Here, $s_n(x) = \frac{a_0}{2} + \sum_{k=1}^n a_k \cos kx$ and $\lim_{n \to \infty} s_n(x) = f(x)$.

The second main result of this section is as follows:

Theorem 6.4. Let $\{b_k\}$ be a sequence of fuzzy coefficients belonging to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$, then (i) $g^t \in L^1(0,\pi)$ if and only if $\sum_{\substack{\oplus k=1\\ \oplus k=1}}^{\infty} \frac{|b_k|}{k} < \infty$. (ii) if $g^t \in L^1(0,\pi)$, then (4.2) is the Fourier series of g^t .

(iii) the series (4.2) converges to the fuzzy valued function g^t in $L^1(0,\pi)$ -norm if and only if $\left\{\lim_{n\to\infty} b_n \ln n = [0]_{\lambda} \mid 0 \le \lambda \le 1\right\}.$

Proof. (i) First we show that the limit function g^t exists in $(0, \pi)$. For this we consider $\widetilde{s}_n^t(x) = \sum_{\bigoplus k=1}^n b_k \sin kx = \left\{ \left(\sum_{k=1}^n (b_k)_{\lambda}^- \sin kx, \sum_{k=1}^n (b_k)_{\lambda}^+ \sin kx \right) \mid 0 \le \lambda \le 1 \right\}.$ Performing summation by parts, we get

$$\widetilde{s}_n^t(x) = \left\{ \left(\sum_{k=1}^n \Delta(b_k)_{\lambda}^- \widetilde{D}_k(x) + (b_n)_{\lambda}^- \widetilde{D}_n(x), \sum_{k=1}^n \Delta(b_k)_{\lambda}^+ \widetilde{D}_k(x) + (b_n)_{\lambda}^+ \widetilde{D}_n(x) \right) \mid 0 \le \lambda \le 1 \right\}.$$

As $\{b_k\}$ belongs to class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$, then

$$\widetilde{s}_n^t(x) = \left\{ \left(\sum_{k=1}^n (\Delta b_k)_{\lambda}^{-} \widetilde{D}_k(x) + (b_n)_{\lambda}^{-} \widetilde{D}_n(x), \sum_{k=1}^n (\Delta b_k)_{\lambda}^{+} \widetilde{D}_k(x) + (b_n)_{\lambda}^{+} \widetilde{D}_n(x) \right) \mid 0 \le \lambda \le 1 \right\}$$

where $\widetilde{D}_k(x)$ is the conjugate Dirichlet Kernel.

As $\widetilde{D}_k(x)$ is bounded in $(0, \pi)$ therefore, by given hypothesis $g^t(x) = \lim_{n \to \infty} \widetilde{s}_n^t(x)$ exists in $(0, \pi)$. Now, consider

$$\int_{0}^{\pi} |g^{t}(x)| dx = \left\{ \left(\int_{0}^{\pi} |g_{\lambda}^{-}(x)| dx, \int_{0}^{\pi} |g_{\lambda}^{+}(x)| dx \right) \mid 0 \le \lambda \le 1 \right\}$$

$$\begin{split} &= \left\{ \left(\int_{0}^{\pi} |\sum_{k=1}^{\infty} (b_{k})_{\lambda}^{-} \sin kx | dx, \int_{0}^{\pi} |\sum_{k=1}^{\infty} (b_{k})_{\lambda}^{+} \sin kx | dx \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &\preceq \left\{ \left(\int_{0}^{\pi} \sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{-}| |\sin kx | dx, \int_{0}^{\pi} \sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{+}| |\sin kx | dx \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &\preceq \left\{ \left(\sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{-}| \left[-\frac{\cos kx}{k} \right]_{0}^{\pi}, \sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{+}| \left[-\frac{\cos kx}{k} \right]_{0}^{\pi} \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &= \left\{ \left(\sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{-}| \left[\frac{-\cos k\pi + 1}{k} \right], \sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{+}| \left[\frac{-\cos k\pi + 1}{k} \right] \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &= \left\{ \left(\sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{-}| \left[\frac{-(-1)^{k} + 1}{k} \right], \sum_{k=1}^{\infty} |(b_{k})_{\lambda}^{-}| \left[\frac{-(-1)^{k} + 1}{k} \right] \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &= \left\{ \left(2\sum_{k=1}^{\infty} \frac{|(b_{k})_{\lambda}^{-}|}{k}, 2\sum_{k=1}^{\infty} \frac{|(b_{k})_{\lambda}^{+}|}{k} \right) \quad \Big| \quad 0 \leq \lambda \leq 1 \right\} \\ &= 2 \sum_{\oplus k=1}^{\infty} \frac{|b_{k}|}{k}. \end{split}$$

Thus, $g^{t}(x) \in L^{1}(0, \pi)$ if and only if $\sum_{\substack{\oplus k=1 \\ m \in \mathbb{N}}}^{\infty} \frac{|b_{k}|}{k}$ is convergent. (ii) Let $l \geq 0$ be fixed integer. Consider,

$$\begin{aligned} &\frac{2}{\pi} \int_{0}^{n} g^{t}(x) \sin lx dx \\ &= \lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \tilde{s}_{n}^{t}(x) \sin lx dx \right] \\ &= \lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \sum_{\oplus k=1}^{n} b_{k} \sin kx \right\} \sin lx dx \right] \\ &= \left\{ \left(\lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \sum_{k=1}^{n} (b_{k})_{\lambda}^{-} \sin kx \right\} \sin lx dx \right], \\ \lim_{n \to \infty} \left[\frac{2}{\pi} \int_{0}^{\pi} \left\{ \sum_{k=1}^{n} (b_{k})_{\lambda}^{-} \sin kx \right\} \sin lx dx \right] \right) \quad \left| \quad 0 \le \lambda \le 1 \right\} \\ &= \left\{ \left(\lim_{n \to \infty} \frac{2}{\pi} \times \frac{\pi}{2} (b_{l})_{\lambda}^{-}, \lim_{n \to \infty} \frac{2}{\pi} \times \frac{\pi}{2} (b_{l})_{\lambda}^{+} \right) \quad \left| \quad 0 \le \lambda \le 1 \right\} \\ &= b_{l}. \end{aligned} \right.$$

(iii) Let $\sigma_n^t(x)$ denote the first arithmetic mean of series (4.2)

$$\begin{aligned} \sigma_n^t(x) \\ &= \sum_{\substack{\oplus k=1}}^n \left(1 - \frac{k}{n+1}\right) b_k \sin kx \\ &= \left(\sigma_\lambda^-(x), \sigma_\lambda^+(x)\right) \\ &= \left\{ \left(\sum_{k=n}^n \left(1 - \frac{k}{n+1}\right) (b_k)_\lambda^- \sin kx, \sum_{k=n}^n \left(1 - \frac{k}{n+1}\right) (b_k)_\lambda^+ \sin kx\right) \mid 0 \le \lambda \le 1 \right\}. \end{aligned}$$

Since $g^t \in L^1(0,\pi)$ by (i), we get

$$\lim_{n \to \infty} \hat{\int}_{0}^{\hat{}} |\sigma_{n}^{t}(x) \ominus g^{t}(x)| dx = [0]_{\lambda} \text{ for } \lambda \in [0, 1]$$

$$i.e \sup_{\lambda \in [0,1]} \left(\lim_{n \to \infty} \int_0^\pi |(\sigma_n)_{\lambda}^-(x) - g_{\lambda}^-(x)| dx, \lim_{n \to \infty} \int_0^\pi |(\sigma_n)_{\lambda}^+(x) - g_{\lambda}^+(x)| dx \right) = 0$$

since

$$\left|\int_{0}^{\pi} |\widetilde{s}_{n}^{t}(x) \ominus f^{t}(x)| dx \ominus \int_{0}^{\pi} |\widetilde{s}_{n}^{t}(x) \ominus \sigma_{n}^{t}(x)| dx\right| \leq \int_{0}^{\pi} |\sigma_{n}^{t}(x) \ominus f^{t}(x)| dx.$$

It is enough to prove that

$$\begin{split} \lim_{n \to \infty} \int_{0}^{\pi} \left| \tilde{s}_{n}^{t}(x) \ominus \sigma_{n}^{t}(x) \right| &= [0]_{\lambda} \text{ if and only if } \lim_{n \to \infty} b_{n} \ln n = [0]_{\lambda}. \text{ Consider,} \\ \\ \lim_{n \to \infty} \int_{0}^{\pi} \left| \tilde{s}_{n}^{t}(x) \ominus \sigma_{n}^{t}(x) \right| dx \\ &= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left(\int_{0}^{\pi} \left| (\tilde{s}_{n})_{\lambda}^{-}(x) - (\sigma_{n})_{\lambda}^{-}(x) \right| dx, \int_{0}^{\pi} \left| (\tilde{s}_{n})_{\lambda}^{+}(x) - (\sigma_{n})_{\lambda}^{+}(x) \right| dx \right) \\ &= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left(\int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{n} (b_{k})_{\lambda}^{-k} \sin kx \right| dx, \int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{n} (b_{k})_{\lambda}^{+k} \sin kx \right| dx \right) \\ &= (J_{1}, J_{2}). \end{split}$$

First, we take

 J_1

$$= \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{n} k(b_k)_{\lambda} \sin kx \right| dx$$
$$= \lim_{n \to \infty}$$

$$\sup_{\lambda \in [0,1]} \left[\int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{k_{0}-1} [(b_{k})_{\lambda}^{-} - (b_{k_{0}})_{\lambda}^{-}] k \sin kx - \frac{1}{n+1} \left\{ \sum_{k=k_{0}}^{n-1} D_{k}'(x) \Delta(b_{k})_{\lambda}^{-} + (b_{n})_{\lambda}^{-} D_{n}'(x) \right\} \right| dx \right]$$
$$= \lim_{n \to \infty}$$

$$\sup_{\lambda \in [0,1]} \left[\int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{k_{0}-1} [(b_{k})_{\lambda}^{-} - (b_{k_{0}})_{\lambda}^{-}] k \sin kx - \frac{1}{n+1} \left\{ \sum_{k=k_{0}}^{n-1} D'_{k}(x) (\Delta b_{k})_{\lambda}^{-} + (b_{n})_{\lambda}^{-} D'_{n}(x) \right\} \right| dx \right].$$

Similarly,

$$J_{2} = \lim_{n \to \infty} \sup_{\lambda \in [0,1]} \left[\int_{0}^{\pi} \left| \frac{1}{n+1} \sum_{k=1}^{k_{0}-1} \left[(b_{k})_{\lambda}^{+} - (b_{k_{0}})_{\lambda}^{+} \right] k \sin kx - \frac{1}{n+1} \left\{ \sum_{k=k_{0}}^{n-1} D_{k}'(x) (\Delta b_{k})_{\lambda}^{+} + (b_{n})_{\lambda}^{+} D_{n}'(x) \right\} \right| dx \right]$$

where $k_0 = 2^{m_0-1}$ is a fixed integer and "prime" means differentiation with respect to x. Let

$$\sum = \left| \int_{0}^{\pi} |\tilde{s}_{n}^{t}(x) \ominus \sigma_{n}^{t}(x)| dx \ominus \frac{b_{n}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx \right|$$
$$= \sup_{\lambda \in [0,1]} \left(\left| \int_{0}^{\pi} |(\tilde{s}_{n})_{\lambda}^{-}(x) - (\sigma)_{\lambda}^{-}(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx \right|, \left| \int_{0}^{\pi} |(\tilde{s}_{n})_{\lambda}^{+}(x) - (\sigma)_{\lambda}^{+}(x)| dx - \frac{(b_{n})_{\lambda}^{+}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx \right| \right)$$
$$= \left(\sum_{1}^{\pi} \sum_{2}^{\pi} \right).$$

Consider,

$$\begin{split} \sum_{1} &= \sup_{\lambda \in [0,1]} \left| \int_{0}^{\pi} |(\tilde{s}_{n})_{\lambda}^{-}(x) - (\sigma)_{\lambda}^{-}(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx \right| \\ &\leq \sup_{\lambda \in [0,1]} \left| \frac{1}{n+1} \int_{0}^{\pi} \sum_{k=1}^{k_{0}-1} \left| \left[(b_{k})_{\lambda}^{-} - (b_{k_{0}})_{\lambda}^{-} \right] k \sin kx \right| dx + \frac{1}{n+1} \int_{0}^{\pi} \sum_{k=k_{0}}^{n-1} \left| \Delta(b_{k})_{\lambda}^{-} D_{k}'(x) \right| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx + \frac{1}{n+1} \int_{0}^{\pi} \sum_{k=k_{0}}^{n-1} \left| D_{n}'(x) \right| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} \sum_{k=k_{0}}^{n-1} \left| (\Delta b_{k})_{\lambda}^{-} D_{k}'(x) \right| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx - \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx + \frac{(b_{n})_{\lambda}^{-}}{n+1} \int_{0}^$$

$$\leq \sup_{\lambda \in [0,1]} \left[\frac{\pi}{n+1} \sum_{k=1}^{k_0-1} k |(b_k)_{\lambda}^- - (b_{k_0})_{\lambda}^-| + \frac{1}{n+1} \int_0^{\pi} \left| \sum_{k=k_0}^{n-1} D'_k(x) (\Delta b_k)_{\lambda}^- \right| dx \right].$$

Applying Bernstein's inequality ([31], Vol.2, p.11) and using Lemma 5.1, we get

$$\begin{split} \sum_{1} &\leq \\ & \sup_{\lambda \in [0,1]} \left[\frac{\pi}{n+1} \sum_{k=1}^{k_{0}-1} k |(b_{k})^{-} - (b_{k_{0}})^{-}| + 2 \int_{0}^{\pi} \left| \sum_{k=k_{0}}^{n-1} D_{k}(x) (\Delta b_{k})_{\lambda}^{-} \right| dx \right] \\ &\leq \sup_{\lambda \in [0,1]} \left[\frac{\pi}{n+1} \sum_{k=1}^{k_{0}-1} k |(b_{k})_{\lambda}^{-} - (b_{k_{0}})_{\lambda}^{-}| + 2M_{p} \sum_{m=m_{0}}^{\infty} 2^{m/q} \left(\sum_{k \in I_{m}} |(\Delta b_{k})_{\lambda}^{-}|^{p} \right)^{1/p} \right]. \end{split}$$

Similarly,

$$\sum_{2} \leq \sup_{\lambda \in [0,1]} \left[\frac{\pi}{n+1} \sum_{k=1}^{k_0-1} k |(b_k)^+_{\lambda} - (b_{k_0})^+_{\lambda}| + 2M_p \sum_{m=m_0}^{\infty} 2^{m/q} \left(\sum_{k \in I_m} |(\Delta b_k)^+_{\lambda}|^p \right)^{1/p} \right]$$

Therefore,

$$\sum \leq \frac{\pi}{n+1} \sum_{\oplus k=1}^{k_0-1} k |b_k \ominus b_{k_0}| \oplus 2M_p \sum_{\oplus m=m_0}^{\infty} 2^{m/q} \left(\sum_{\oplus k \in I_m} |\Delta b_k|^p\right)^{1/p} = \sum' + \sum''$$

Given any $\epsilon > 0$ by class $\mathbf{K}_{\mathbf{p}}(\mathbf{F})$ we choose m_0 so large that $\sum'' \prec \epsilon$. Then setting $k_0 = 2^{m_0-1}$, we take n so large that $\sum' \prec \epsilon$. To sum up we have $\sum \prec 2\epsilon$, if n is sufficiently large. This means that

$$\lim_{n \to \infty} \left[\int_{0}^{\pi} |s_{n}^{t}(x) \ominus \sigma_{n}^{t}(x)| dx \ominus \frac{b_{n}}{n+1} \int_{0}^{\pi} |D_{n}'(x)| dx \right] = [0]_{\lambda},$$

if and only if $\lim_{n \to \infty} b_{n} \ln n = [0]_{\lambda}$ $\therefore \quad \frac{1}{n} \int_{0}^{\pi} |D_{n}'(x)| dx \approx \ln n$
This proves the main result.

This proves the main result.

Remark 6.5. If $(b_k)_{\lambda}^- = (b_k)_{\lambda}^+$ in above theorem then the following corollary is an application of above theorem.

Corollary 6.6. [16] If $\{b_k\}$ is a null sequence and the series $\sum_{m=1}^{\infty} 2^{m/q} \left(\sum_{k \in I_m} |\Delta b_k|^p \right)^{1/p}$ is convergent for some p > 1, then (i) $g \in L^1(0,\pi)$ if and only if $\sum_{k=1}^{\infty} \frac{|b_k|}{k} < \infty$. (ii) If $g \in L^1(0,\pi)$ then $\sum_{k=1}^{\infty} b_k \sin kx$ is the Fourier series of g. (iii) $\lim_{n \to \infty} \int_{0}^{\pi} |\tilde{s}_n(x) - g(x)| dx = 0$ if and only if $\lim_{n \to \infty} b_n \ln n = 0$. Here $\tilde{s}_n(x) = \sum_{k=1}^n b_k \sin kx$ and $\lim_{n \to \infty} \tilde{s}_n(x) = g(x)$.

7. Conclusion

Some useful results have been obtained by using level sets for defining series of fuzzy valued functions like Fourier series. The applications of the obtained results include the generalization of integrability and L^1 -convergence of fuzzy trigonometric series of fuzzy valued functions. One of the purpose of this work is to extend the classical Fourier analysis to the fuzzy Fourier analysis. Futurework will be dedicated to obtain necessary and sufficient conditions for fuzzy integrability and L^1 -convergence of fuzzy trigonometric series under more generalized conditions on fuzzy coefficients.

References

- J. Ban, Radon-Nikodym theorem and conditional expectation of fuzzy-valued measures and variables, Fuzzy Sets and Systems, 34 (1990), 383–392.
- [2] B. Bede, S. G. Gal, Almost periodic fuzzy-number-valued functions, Fuzzy Sets and Systems, 147 (2004), 385–403. 2.6
- [3] D. Butnariu, Measurability concepts for fuzzy mappings, Fuzzy Sets and Systems, **31** (1989), 77–82. 3, 3.1
- [4] W. Congxin, M. Ming, Embedding problem of fuzzy number space: part II, Fuzzy Sets and Systems, 45 (1992) 189–202. 3.1
 [5] J. W. Garrett, C. V. Stanojević, Necessary and sufficient conditions for L¹-convergence of trigonometric series, Proc.
- Amer. Math. Soc., **60** (1976), 68–71. 1 [6] L.W. Committe G. S. Berg, G.V. Standinick On L^1 communication with maximum frame.
- [6] J. W. Garrett, C. S. Rees, C. V. Stanojević, On L¹-convergence of Fourier series with quasi-monotone coefficients Proc. Amer. Math. Soc., 72 (1978), 535–538.
- [7] J. W. Garrett, C. S. Rees, C. V. Stanojević, L¹-convergence of Fourier series with coefficients of bounded variation, Proc. Amer. Math. Soc., 80 (1980), 423–430.
- [8] R. Goetschel, W. Voxman, Elementary fuzzy calculus, Fuzzy Sets and Systems, 18 (1986), 31–43. 1, 2.2
- [9] U. Kadak, F. Başar, Power series of fuzzy numbers, AIP Conference Proceedings, 1309 (2010), 538–550. 1
- [10] U. Kadak, F. Başar, Power series of fuzzy numbers with reel or fuzzy coeffcients, Filomat, 25 (2012), 519–528.
- U. Kadak, F. Başar, On some sets of fuzzy-valued sequences with the level sets, Contemporary Anal. Appl. Math., 1 (2013), 70–90.
- [12] U. Kadak, F. Başar, On Fourier series of fuzzy valued functions, Sci. World J., Volume 2014 (2014), 1–13. 1, 4.1, 4
- [13] O. Kaleva, Fuzzy differential equations, Fuzzy Sets and Systems, 24 (1987), 301–317. 1, 3, 3.3
- [14] Y. K. Kim, B. M. Ghil, Integrals of fuzzy-number-valued functions, Fuzzy Sets and Systems, 86 (1997), 213–222. 1, 3.2
- [15] A. N. Kolmogorov, Sur l'ordre de grandeur des coefficients de la series de Fourier-Lebesgue, Bull. Acad. Polon. Sci. Ser. Sci. Math. Astronom. Phys., (1923), 83–86. 1
- [16] F. Moricz, Lebesgue integrability and L¹ convergence of trigonometric series with special coefficients, Colloquia Mathematica Societatis Janos Bolyai 58, Approximation Theory, Kecskemet (Hungary), (1990). 6.3, 6.6
- [17] M. Puri, D. Ralescu, Fuzzy random variables, J. Math. Anal. Appl., 14 (1986), 409–422. 1
- [18] M. Puri, D. Ralescu, Convergence theorem for fuzzy martingales, J. Math. Anal. Appl., 160 (1991), 107–122. 1
- [19] M. Stojaković, Fuzzy conditional expectation, Fuzzy Sets and Systems, 52 (1992), 53-60. 1
- [20] M. Stojaković, Fuzzy random variables, expectation and martingales, J. Math. Anal. Appl., 184 (1994), 594–606. 1
- [21] M. Stojaković, Fuzzy valued measure, Fuzzy Sets and Systems, 65 (1994), 95–104. 1
- [22] M. Stojaković, Z. Stojaković, Addition and series of fuzzy sets, Fuzzy Sets and Systems, 83 (1996), 341–346. 1
- [23] M. Stojaković, Z. Stojaković, Series of fuzzy sets, Fuzzy Sets and Systems, 160 (2009), 3115–3127. 1
- [24] O. Talo, F. Başar, On the space $bv_p(F)$ of sequences of p-bounded variation of fuzzy numbers, Acta Math. Sin. Eng. Ser., **24** (2008), 965–972. 2.3, 2.4, 2.5
- [25] O. Talo, F. Başar, Determination of the duals of classical sets of sequences of fuzzy numbers and related matrix transformations, Comput. Math. Appl., 58 (2009), 717–733. 1
- [26] S. A. Telyakovskii, On a sufficient condition of Sidon for integrability of trigonometric series, Mat. Zametki, 14 (1973), 317–328. 1
- [27] S. A. Telyakovskii, G. A. Fomin, On convergence in L metric of Fourier series with quasi monotone coefficients, Trudy Mat. Inst. Steklov., 134 (1975), 310–313. (Russian). 1
- [28] M. Z. Wang, S. P. Zhou, Applications of MVBV condition in L¹ integrability, Acta. Math. Hungar., 129 (2010), 70-80. 1
- [29] L. A. Zadeh, Fuzzy sets, Inform. and control, 8 (1965), 338–352. 1
- [30] D. Zhang, C. Guo, Fubini Theorem for F-integrals, Fuzzy Sets and Systems, 62 (1994), 355-358. 1
- [31] A. Zygmund, Trigonometric series, University Press, Cambridge, (1959). 6, 6